ra
2)’ - ‘5)} 95
—I3y—-45

24

Solve: w(2w +3) =0

Solve: x2+2x—8=0
(% +¢-Dl(><—2) o

YX+4=0 X-2=
X=-t X=X

Solve: b* +9b + 14 =0

(o)) =0
b¥7=0 brizzo
b=-77 b=~
Solve: 2y? = 13y + 45
'-"-y"‘—-i"by -Y4s= o
Qy* ) dsy-49-o

2y (y-4) & Sly-9)=0

(2){-}5)( -‘.‘) =D
Solve: 3¢? = 10c —g
B —10c+ =0

(’.’x."‘-— (- TEL PRy

3::(:—?-5-%:-:.3 =>

e -4 -2 =
Solge: 5;% E"IB?:Q?J:
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Ux—1=0
2%+ (2x-D =0

Xes=o
(k-6 (% 4+Q) =0

X =44q=0

(xX+)(x-7) =0

Solve: 144g* = 25
|44 -2S =0
(13¢-S)(12g23)=0
Ry-Szo |12etSo

Solve: 36x? = 121
x ~2l =D

Cex-1Nlex+11) =D

bx-ll=o Gx*li=D
= lex =-I

((J'fx:f { x 'F_L

Solve*2y“ = 13y

Solve: (3x—8)(x —1) = 3x

Solve: 2m+1)(m+3) = 12m

Solve: (k+1)(k—1)=38

z:i’:

=
=N
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Solve: 8x3 = 24x* — 18x

Solve: 16y% = 32y3 + 2y

Solve: 4x? = 16x + 84

Solve: 18a® — 30 = —33a

Find the product of two consecutive ingtegers is 132. Find
the integers.

The product of two consecutive integers is 240. Find the
integers.
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h(x) = =16x2 + 16x + 32

A multilevel driving range has three levels. Marco hits
golf balls from the second level, which is 32 ft high. The
height of a ball x seconds after Marco hits it is modeled

by the function h(x) = — 16x2 + 16x + 32. When does
the ball hit the ground?

0= Lo Hoyinn

:;(: ~le e —lg
O = XL—X -2 _
or =R

X-~2=0© Axl=

o



A baseball is thrown from the upper deck of a stadium, 128 ft
above the ground. The function h(t) = —16 +32 +128 gives
the height of the ball t seconds after it is thrown. How long
will the it take the ball to reach the ground?

O=-1t"42¢t 1128
e —l¢e —la —l¢

o=t —at—8 ¢

E-(trD =0 :
Lt-4=0 Lia=o
£=-2



Positive or Negative Intervals

|dentify the interval(s) on which the function y = x? - 2x - 3 is positive

X?—_'QX——,S:O % L — 1__‘_
T -
(x->)(xr) =0 o >
X ¥1=0 X=2 x=
-Yz o = [
Y@ o) u(379) (aacn-s wae
7> Grues b
5 5
Y=o

(6)=2C0) =3



|dentify the interval(s) on which the function y = x? - 4x - 21 is negative

Ve Ug-21 =06

(X“_D (x+> o

X =7

F".-h.,\ Ccres (K-in‘étﬂﬁpt%

X=-3

( - 17,77)

-, =  +
]
lek x= -y leb x=0
(-4) =aqc-q)-2|  (eF-te)-2)
(6 +16 -2 o -e-=al
-2

Bl
("

Lebx=%
%~ Y(e)-¢
LY-da-2)

32-2|
1]



